and
3 and C invested ¥ 80,000, T 40.000

I’
0,000 respectively in a business. A left -

. is
months. If total profit after eight monu”t.he
_ ey
78900 “P2 Yy #8900

? .
fit ? ¢
Z 5,000
TR - | | 2
2016 forx 2) 20-1 (tres
7 8,000 wd i
1
% 8,900 f ,
Not attempted 1
( .
] | . ﬂ\mm this

botainar_contains 4 13 3
PO (4) 13days
tamner 4 uwres of (taken out and
laced by 4 litres of ‘sis process was
pated further two !  much milk is
in the container ? {

28 litres

29-16 litres KA

26-34 litres

27-36 litres

Not attempted

|

5 30% more efficient than B. How much time
| they, working together, take to complete a
which A alone could have done in 23 days ?

3
15 days
11 days

13 days

Not attempted

Roverwonw
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Join

©: ufedl s Y Fraehy
4. Tl o elegr
4 ¥wvg, 6 ¥wvE, SR & s, \ .
o » 8 Avg, 10 v 122m 4. gix bells Al ce tolling, ;€ an toll
ma"‘““ﬁ - LI TY S H1g w"fm ¥ in terval rQl;l:{:‘tg &m & nl setond 8
1 ? .o
) resp?Ctlo mes
elin Gndlutes
these si . In Elll 1:Ogethﬁr 2 o ma1112 tc:llo
1) 15 bell
(1)Pe¥8to 0
(2) 16
3 (2) 16
: @ 4
(4 10
4 10
(5) I A 3y qmey Not attempte
(5)
5, Iy et Y 5. LCM of two|,rime numbers X apd )i 161.
@Y _p® ‘TF(% : » ®-Lemoierr The value of (3y _ x)is x>
® 1 1) 1
(2) 9 @2 2
@ _, @) -2
4) -1
4 -1
Not attempted
(5) IO T G AmER 5’
6. If m _
6, ”ﬁm=—4a¥n n= 3 = 4 3 n=-—2,2 then of
m3 -3 g +3m .3 n+_22-§n3351 (1)—33}8 z e 3n*“the+i’ﬂug_
. 1S«
(1) 6 3n qaq am
@ -128 (2 1386
3) - 120 3 -120
4) -124 (4) -124
5, Notatt
5) ", empted
1 7. If l = -0‘2689,
MR s . 1 3718 then weviye ¢ 1
| =02689 5 00003718 . .. is: 0-0003718
T (1) 26890 0
(2) 0-2689 Q) 6890
(3). 2689 (2) 02659
(4) 2689 (3) 2229
(5) =& & (4)
e 5) Not attempt d
MARA/C2/Page 3 ©
T & m TYT | sPaceE  FoR ROUq
WORK )



e

The Prilncipal that amounts to € 4’913-in 3 years
a?t & per o 2 T4006 4 interest
compounded annua“y is:

M = 4,085 & 1Y
@ v4096 i, @
7 1,70,000 172
4) =407

(5)  Not attempte

¥ 1,70,000

yple interest at a
20cm?®  invested at
srest for the same
10. 7 5,100 more. The

A sum was inve
mwf;a.'.ﬁfor 3 3
1% higher rate of

time, it would hay &
sum is ; »

) 2® T )

2) ¥ 1,70,000

3) ¥ 1,20,000

4) ¥ 1,25,000

5) Not attempte: -
[he length of one -

is twice the lengt
length of hypotent
triapgle is:! LA
) 40cm! IBR
# @m

2 hours

¢ht-angled triangle
ther side and the
a. The area of the

2) 50 cm?
3) 20 cm?

1 g -
4) 333cm

5) ‘Not attempted

covering a certain distance, the speeds of A

E\dBmiﬁt_hemtioa:lt.AtakesSOminutes

ore than B to reach the destination. The time
laken by A to reach the destination is :

1) 2hours
2) 2% hours
3) TIhour
1
4) 1— hours
) 2

5) Not attempted

IR ROUGH WORK
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[P RN CUPEN Soa i

~ f a
ptio ofmﬂktowaterinsohmo

ed
e iB: : 8. The water (= 1-‘4-:.!) to be ;ldd
Pl he ratio of milk to wawer 2 1is
7|18, The
i whe
yift. x 8 i, 4:1
12 (3 8m
floo
Nat attemnted per
0-4142 '(J‘J)ﬂ
imensions. of a rec i oor of a room
increased by 4 m ~" e in the ratio
when decrease *(4) reg become in
tio 2: 1. What a (6) nsions of the
18 mx 22 m 14. If »
18 m x 24 m B
12 m x 8 m @
16mx12m @
Not attempted @
: 4 (5)
= 1-4142, then J:a‘t 1al to
s w
0-4142 3h
03652 i
0-732
13142
Not attempted

the average of a, b?, ¢ is
o>
om®

M’
3Mm*

Not attempted

le average of a, b, ¢ is M and ab + bc + ca =0,

Join Telegram Group "gradein”
t

IOUGH WORK
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Which of the follow
about compounds ?
(a)
) (b)@¥i (c:ances
(b)  The comp
always fixe
The consti:
chemical o,

Choose the corr
below : I ‘*

(1) (b)and (¢)
(2) Only (a) .

(c)

@ (2)and () ¥
(6) Not “"“mlm -«

(1)
(2)
(3)
(4)
(5)

Mandela (Tamil)
Funeral (Marathi)
Not attempted

It lhOWS the pmp&l‘tl

R (Fdt) €4) ' Kuneral (Marathi)

Join Telegram Group "gradein"”

ing statements is/are correct

8 of the constituent

(1) (b and(e

ich new substance is

be separated only by
_ical reactions.

17.from the codes given

HWEmwE ' @ (a)and (o)

'® correct
about the prope: lloidal Solution ?

(a) A colloid is ' 2eous mixture,

(b) The solut: settle down whep
colloids are wurbed, hence, colloids
are unstab]

(e) Colloids ar h to scatter a beam of
light passir it and make its path
visible. i

Choose the corrdl T rom the codes given

below : a fasan | 18

(1) (b)and () )

(2) Only(a)

(3) (a)and (b)

(4) (a)and (c)

(6) Not attempted

Which film won the ‘Best Film on Social Issues’
Award in the 68 National Film Awards under
the feature films category ?

‘Taledanda (Beheading a Life) (Kannada)
Natyam (Dance) (Telugu)

PR ROUGH WORK
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are being

A ' atheh U! stanA-

the candldﬂfe.sm vfg e .'mplemented for th@ rt
conduet of * mea ur T Rans e afety db
#ac ¥ b nrlk- D 0 ' sition’ t deVelope Y
' e y 4
. g, Uh AYRW 19. ank ) the
19 A ks mh;m A “FrN o cofhP 1945, describ d
m % tein ono mic dev € o e and
r .
Wﬁgﬂ-j}ﬂ gr Ehh‘oﬁlmp betWeen e 1
( A v pIn
N (1) o= ol esin epidemic,
nt
1) ﬂﬁ?‘amm : (2Cﬂrt0graphic bo U n daries
2) = % ) :
@ ¥ HAY I (8)  social crime rate
4) W TR (). Death and Birth rate '
() B M1 Not attempted
sl
5 ‘ IRACE FOR RO ¢
. 3R
i, V\—among
Tl s ? i m b il
‘Tmmﬁ% wmmliecred  the following will not ° i
(2)) . faw M. tFoopeign Direct 1pyesiment
( LRI ISHEI I Multilaternl trade 5 greeme
3)  armesifin B OutsowfcgigbalizaticRtS
(4 \g/ \D Tariff barriers
@ﬁ éﬁpﬂﬁ am m Il Not attempted
1A
2L R a; =fafia .
' B & ¥ AP w2 IH industries has
B 3 ST e ¢ 2 . J—rum in the
e . ? the
1 fE]]:;:ilrllléer Industry Chhotanagpur
: o |
@ @@ a
(4) < ot s waim .
- AtBomirbideabrtlBEEEY Ingus ¢y
(5) w W ‘ — “Skm hitestry
i mpted
" STV Y § qev « wi i w1 wen e
p; 82 22 Natar aja onze 1
(1) et positio . scu in @ dancing
9 - Hdssociated with __ pture
) & (1) Kai a B
3) e (2) Nan; br
4 fig (3) Kris,..
(5) IW qﬁ &:n q-rga (4) Shiva
ARA/cz/Page 7 A)
NOt pte d

Join Telegram Group ' gradelnt

te
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en j e
y ;8 the blnlt-m exception Import Error

Ltis I‘alsed = dex or subscript in a

It is raie® Microsc ¥Excel .4 module

definition i N

) Itisraised - . of file condition is
input (), @ MW '

Not attempf -

t is the nam etworking Topology
here each commgyy 7 avice is connected to

1) Mesh Topolt
Star Topology
Bus Topology
Ring Topology
Not attempted

ich of the following is mot an example of
secondary memory ?

1) Memory Card

2) Read only memory

3) Hard Disk Drive (HDD)

4) CDROM

(5) Not attempted

PR ROUGH WORK
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o~

(4] § =L

e final (last) Artlcle of the ¥ pich of the
the provision related to W

FOrmiauvas ve ar~ e ==
- svme Independence Act,
1047 »

ormation of New |

epeal of the Injog ‘A ependence B

. T'e M

. J.L. Isghru
roclamation of En w
ot attempted Cor
(D
m .estiny) Epiiaphy ::ipee;:
£ T dintn (q)ence made
“ﬁ“:"m luced by Election

:@m m1ss) 1on gt ‘gnmn mt\' :Jroter awareness.

3 P. Mukherjee '

7.J. Patel 29. Th

L. Nehru =

3 R. Ambedkar g

Not attempted @

tudy of writings e (45 hard surfaces

s stone or metal it | B i __»

[oonog;aphy

Typography

Calligraphy

Epigraphy

Not attempted

lata Junction’ refers to :
radio series produced by

Commission of India for voter awareness.

name of a new railway station to raise voter

Election

awareness.

special polling booth for Divyang voters.
training programme for officials to handle
postal ballot.

Not attempted

Join Telegram Group "gradein”
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Join Telegram Group "graqein" _
) ﬁammw-mmaﬁﬁ““ o W%MWWW#a
3. pefet 1y
(n e ‘ R
e B @ fa
@ T @) s
@ T
@) Im=
() I3 3 e
o REWA I H Y o e S T § fog weffus v IR
Gl
) %, 3 gRgn W |
. “‘?ﬁ““; | TR TS A (2) w1 % Tm oy
@) LR rum— AR GRS
@ ™ % = farm b 2 4) o % 9 8 A
. e Y (6) I T MED
| L TN 9 08 R dm — qeet # 39 |
33. ‘it fgow F1, araf Suiw <, 394 WA TeIe TAR H AHE T R 2
Tt e i Y, o Gom R 7 | ,
e 0 SRR — (1) ¥UEE I
iy oy (2) ST g
2) wifmm ' Sl
@ ®Wy (4) L
4) T " () I 79 3 IR
(5) S I T
B, TR R E ayg R T B
34. feum frm v & svwi w1 wEm g R 2 (1) fafr
1) W @ A=
(2) N (3) At
(3 =R (4) Teqsfie
4) WER
(6) I T & e
(5) e & =TE
MARA/C2/Page 10 TF F1d & forg vamt / SPACE FOR ROUGH WORK
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B

R

e Tl & A

R
oeh

i, et % e f
T g R ?

P g f @
i 7 I @
e et f 3

e Tl 2 T

) wfg Em

) s &

p & wf

p wEh

5) I Al & e

- T T gy G

i
m e

ag & 9 & [

_ll’wi‘ﬁ“‘m*m

s B bt

=

a

) § _®m

. (:F ﬁ‘ aﬂ‘ﬂﬂfﬁm
{

(

i & @ S d o o v T 2

R ROUGH WORK
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4 RpsQ W
tiger population |
hde, shrinking hat
c. The trade of tig

rge of extinction.
bitat to about t
pulation in the 1

ger”, one of the we
@ a wl?
nservation has bee
ve the endangerec
pserving biotype of
Find out a wore there is
the antonym of
(1) illegal

(2) threat

(8) - extinction-
(4) faunal

(6) Not attem

r as your

The skin and

earereadingit.  gges il

fast, The major'thrgah
us g-!ch as poadnng for
fon of prey base species
4 the use of their bones
illegal _ jpulation on the
tia and Nepal provide
Wf the surviving tiger
2 two nations became

ime targete (4) _in tradifional medicines Tt

| 1 wildlife campaigns in

Pouhingfortmdp lia, Tiger

ot only as an effort to
it also as a means of
gnitude.

ghove passage which is

5.tigermnlsoused

(1) tosave tiger from extinction
(2) in preparation of food products
(3) as raw material in small factories -

Join Telegram Group "gradein"”

ead the following passage carefully and ansy,
uestions 49, 50 and 51.
Lger is one of the key wildlife species in the fauny
b. In 1973, the authorities realised that the tige,

4)
(5)

1)
(2)
3)
(4)
(5)

in traditional medicines
Not attempted *

The major threat to tiger populations is

Poaching for trade
Industrialization

Lack of Tiger Reserves
No Government policy
Not attempted

FOR ROUGH WORK
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e the alternative which be

g of the underlined idio™

e ccident:
3 -e'ﬁar“' 4) naitow tha 8
ghting e
impractical \ -
(n
very safe Auﬁoh&}mhy
MmATTOW (3)
Sron
Noﬂuwmpted | 7 @
) Unir (giring ris called
history of a man - A
joand three 1snve)  ther (Jrus
S ; w
Bibliography
Biogr_aphy @
to attend "1 o
Not attem, @ Pmttg\lmesl
bt the word that | (4)jlar in meaning
; 5
\e given word.
Prosaic g9,
Patriotic (E
Uninspiring I
Poetic dal’ «
Not attempted @
1 out the correctly spelt word.
thesaurus
thesoraus
thasaurus
thisaurus
Not attempted
d out the correctly spelt word.
prettentiousness
pretantiosness
pretantiousness
pretentiousness
 Not attempted
ROUGH WORK
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1. When was the State Council of Educatio,

(@) i and Trai g qgrg’ 1 in Harvan

(1) 1960

in\ 1nn5
(1) IFTER (1) Yamunanagar
(3) 1979
(4) 1970
(5) Not atte

4) @en few 4) Black Buck i i
&‘) e € 4) ed in whig

district of Ha
(1) Yamun:

mwﬁm ‘4) Bahadurgarh Fort

(3) Rohtak
3) W W@ P(3)  Tyopic of Cancer
(5) Not atte
8. Which is the 8 ST S | of Haryana ?
(1) Tiger

(2) Horse

(3) Elephan
(4) Black Bt
(5) Not atte

t. Which fortis k. PGatewayoantyma?
(1) " Kanod PR & |
(2) Maham]

(3) Gohana Fort

(4) Bahadurgarh Fort
(5') Not attempted

I Haryana is located around 300 miles North of the

(1) Greenwich line

(2) Equator

(3) Tropic of Cancer
(4) Tropic of Capricorn
(5) Not attempted

E FOR ROUGH WORK
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. |

- m% 66 The credlt. f[)r propagating
go. : '

Movement in Haryana goes to
(1) Ram Kishore

4
i :; ) Thakur Ram Singh
i % i 3 Lala Murlidhar
Imi _
| (4) Pt. Nekiram Sharma
&) . s W (5) Not attempted |
e : Mahal
67. " SN 1 Ot W W A ? 4, Which of the following is known as the T&l M
(1 ¥a R = T of Haryana ?
B B  Sheikh Chilli’s Tomb
(3) ¥ . iml  Ibrahim Suri’s Tomb
(4) v§ ¥ : B Sheesh Mahal
(5) TR | & IM Jal Mahal
Il Not attempted
68, Pmfafae & 7 ¥ o e gesi gl : )
- 78 e BN EEEich among the following folk. dance forms 1S
?
U =W IR performed by men ?
0
@- 4 : 103:‘“’“ .
aupaiyan
(3)
@) :tﬁ (3) Loor
Il Daph
(5) IR TE M =T . )

I Not attempted

69. mmﬂﬁmm%ﬁﬁﬁ%ﬁﬁﬂﬁl B. B Lakhmi Chand was born in which of the

e § B ? Elowing vi age of Haryana ?
() wdfiwe (1) Jantika an
2 @@ - B Sihi
(3)  #@T B Mokhra
@t — __IM Nahri
(5) IR T &N AE B Not attempted
70. i o fa war gedhra <tem g wwE T ;q-mr' NN W fort of Asigarh situated in Hansi was built by
& farct =1 fmior fm &t & gam 2 Elthviraj Chauhan in which century ?
(1) 14 7R : ™ 14" century
2 174 &l (2) 17 century
3) - 129 = 3 12* century
@) 1541 #& 4)  15% century
(6) I T & R (5) Not attempted

MARA/C2/Page 15 T W % fore ¥am 1 SPACE FOR ROUGH WoRK
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Which district in Haryana has the

highey Join Telegram Group "gradein

g
) & (4) Gurugram

(1) Panchkula :

. s moncateis e Ay = —
ﬁ?;) (1) bnavantar Bharpas_ree Yoj

(4) Gurugram

(5)° Not attemp!

: " | Ry scheme launched o
p 2013 fullf 4 o599 _

December 31, 20 yaus— -

- llm | 3 Yojana

(1) Bhavantar

o nL-__uya B na

1805452 " (4) 180545 units

(3) Bagwanil ...

(4) - Bijali Bacha-

(5) Not attempt
0, %05 @) 46%

In which year w nreve 3elliﬁt Transfer

(DBT) Scheme lﬂll — ,'11 Haryana ?

(1) 2014 i,

(2) 2015

(3) 2011,

4) 2013

(5) Not attempt

What is the increased per capita consumption of
electricity in the year 2020 — 21 in Haryana ?

1200-45 units
154045 units
1000 units
-1805-45 units
Not attempted

(1)
(2)
(3
(4)
(5

What is thq- percentage of total axpendit@
allocated towards Police in Haryana Stat

6-2%

2:1%
46%

4:3%

Not attempted

(1)
(2)
(3)
(4)
(5)

Budget for the financial year 2022 — 23 2

Join Telegram Group "gradein”




-—a'g largest
.;ﬁ ‘n Roht aly (3) C]Oth_‘ s larg
—— Market,

e Parts Con

g - LR V@
oth, : -

rain %
#@w 1 Moti Lal Madan

5 2
the first wrestjer 5 Gold Medal in
nwealth Games i 78. Whi

aster Chandgj Rar Ha
Ao Avaln Sma (4) spéhs

ajjan Singh 1

T2 Uday-t-(ly Murrah
ot attempteq e

(4)

of the followiy (5) nalities . from
18 received the Pag in 2022 in the
‘Science and Engir(79. Ra
loti Lal Madan e
aghuvendra Tanw; M
umit Angil (2)
'm Pl:a-kash Gandh @
ot attempted “
akshmi Bai Awarq in Haryang is awardeq
ch area ?
cience
ocial Work
iterature
Sports
Not attempted
 breed of buffalo ig called the ‘Black Golg of
ina’ ?
Mehsana
Murrah
Bhadwar;
Niti-Rayi
Not attempteq
UGH wan..

Join Telegram Group "gradein”

Join Telegram Group "gradein”




)
19137

(1)  Gopal Singh
(2)  Alok Singh
(3) _ Sir Chhot

(6) Not atterr
10 aﬂg‘,. 191.2 .h

10~ Octol
(8) 20 Jupe,

(4) 31% May,
2] fercan attem

\Z)

M.K. Gandhi w
Palwal railway

protest against
(1) 10 April,
(2) 10 April,
(3) 10 April,
(4) 10 April,
(5) Not attem

Ma]'lendragnrh

(1) Kanoud

(2) Satyevpuram
(3) Kapisthal

(4) Sairishaka

(5) Not attempted

of Haryana ? ‘
(1) Yamunanagar
(2) Sirsa

(3) Panchkula

(4) Ambala

(5) Not attempted

Who was the first [- -
e 148 ice o, Gopal
Lo Jushne vl TN Pqua ﬂlgh Com m

SI7, 1954 @ 31 May, 1904

Commission foA wt';
(1) 26% April™
1) wHEE iy

What is ﬂ‘“ﬂr'ﬂf -

- Poin Telegram Group "gradein”

inted as the

th
107 AprlnESate Finance
88

Kanoud

Sirsa
d on which date from
iile going to Punjab to
t Act ?

84

name of district

85,7

The Shivalik Hills are not found in which district

OR ROUGH WORK
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86. ﬁ'.a;i
i 2 o B gy g R & | e, g | 86
ﬁﬁ!ﬁﬂﬁ*“ﬁ mmg“ﬁm Three st
ateme
T, nts a
& P/ § | "R Frei fay T e conclusiong. Tgke e followed thr
w PR ifthey eem ¢, }, the statementsyto be true exen
0 be at
@) Fam vaTigce from
@ A= ;T_fﬁwaa i knowns factg. Decide  pich thet commonly
X e
Ay (D = & conclusions loglcally wlovwgfs) from ¢ e
’ ) & _ 0] ; 8yen
i (T) |y " B?"‘"’”"’S : So ples
PO P * me ap are grapeg,
l (2) ¥ 1ade I All 8Tapes anan;
B)  Fae radr vy | Some plumare b pes
[T Conc ionS ’
f - 3;:1 ?;1;::;; lusion 09) Some BEB#Ras are plums.
™w AT/ SPACE FOR ROUGH WORK ; D Soe apples are bgﬂ as.
0 I (IID  ANbAnN s are
; C@ P Only 111 follows a grapes.
;. 1) Only L ang 111 gy, '
S ”SJ v 43) Only T ang I follow
87 wm - \,.:( 1) only 11 foltows
w5 (¢ o 15 Not attempted
XalL 9 ‘
N 1 ! . 1 value of ‘o’ ip thi
o =+ . ol a'j 1
Coou "What is the : tn this patte 9
XaL= i ' 2 m
P a H =2 -
% 1) oo ,LaF=2
2 - b 00
@ + 8l
. P
5) 5
b
IR 21 - "Not attempted
38: I ’ Q’ II: S" T Igg;lna;q{ﬂq _’aﬂgi e} C!. N
B oye]| 00 ‘P’ Hl oo lf— . I;’ Q" Y ‘P’ is the son of
ey, 76 o o cco © ut ‘R, Sxptebet ‘P& .is the ,son of /S,
R ‘S H el 5 | py v :
viho is thp’ refuted o5 ¢ the wife of ‘S’.
‘P’ TN How igncle 0
R A %‘m 0? 100 Fat
g or
w nln
(5) IarTE & 2" Nephew
o0 Nobattempte
0
MARA/C2/Page 19




.twn as

. '
a certain code langusge XYZ* ;;;Gﬂ writte?

that code language
4917 ik
4217 i

4197 #3
4170 ma

Z 100
pbed 4 = 100 went

INOT Avvosss

-ee friends Amita, W ;

FRIEND t. W@ FRIIND
3

ita pnid — as E
5 paid. If the

ita paid —;— as mu
paid is T 360, the
CWFKV (4) - CWFKV
Z 200
Z 60
% 180
Z 100
Not attempted

not be formed by

d out the word W
ord :

ng the letters of the
VERIFIED 7 #|(92.
FRIED AR
FRIEND
DEFER
DRIVE
Not attempted

a certain code language DFGHJ is written as
1JL. How is AUDIT written in that code
guage ?

CWFIU

CWPJV

CWEJV
- CWFKV

Not attempted

ROUGH WORK \
£ l
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the combination of numbers S0 that th:
arranged accordingly will form

;a._l—. 2. 5_ 3
1 L B@W 643125
i B & 4
— 94.
WRFR () Pacific Ocean
6,4,3,2,5,1
3,4,5,6,2,1

6,4,3,1,2,5 .
M —T9SET  3)  Flowers — Bouquet
d th

nd the odd one m.:.t..mI 7|95

Indian Ocean = -
624 g, (2) 624

0]

) Bay of Bengal
) Pacific Ocean
)

Not attempted

thoose the correct ¢
telated in the same
words :

7aichthewords;ue
the given pair of

Singer : Chon -
1) Arkist— Paink
(2) Robbers - Lo

(3) Flowers - Bo

(4) Musicians -,

(5) Not attempted

Choose the correct option, which is related as
given :

11:120::25:7

(1) 224

(2) 624

(3) 250

(4) 125

(5) Not attempted

E FOR ROUGH WORK
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v BB TIHR st 91- A B, C . : :
97 rre Rl D g gty § F H -tk ,tD, ]‘E:D?I?d F afe sitting in a circle facing
B o o o 391 B and B e e oy o7 e immegiate right of B
TN BF F R -0, | | .{6" g I .C, ‘A, 3ﬂ( ‘D' : 18 ﬂ‘ot, the 1 adiate neighbour of F 1 '.C,
E i Lumbeisaiy F Tonh g 3 ) :; ’l:;‘-‘tween A’ and ‘. ——— neighbours of
il | () AandB
@ C (2) CandD
@) B (3) BandD
(4) ASNE (4) AandE
W 3 3 (5) Not attempted
98. ITH % All the hard work done by you at youT workp%ace.
i is hijacked by one of jour colleagues, who is a
T R good friend of yours. Yo will :
(1) uRem (1) continue hard work as hard work always
b pays.
(2) [2) start praising about your work yourself.
(3) (3). leave the job.
(4) criticise him in front of other colleagues.
Eg (5) Not attempted
. Find the value of p in the series :
99. T 1 dca iy
— 1, 3 3 ’ 9 ’ 3 m 2 w
1
%) 219 W a9
1
(2)
® 39
1
3
® @ .
1
1 4
@ i
(5) IR 81 T 8 (5) Not attempted
100, ¥ fu T fwwdl # 3 g @ @ = I W@ Choose the missing number from the given
e & ’I@?ﬂ '{ﬂ R options that will complete the number series :
55: 56, 581 61| 65, —_— 55’ 56: 58: 61: 65, —_—
‘M mn 7N
2) 72 . 2)7 2
(3 70 3 170
(4) 69 4) 69
(5) I AH M 9 (5)  Not attempted
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